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Reteach |n 9 3 Perimeters and Areas of Rectangles
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Perimeter Area
The perimeter of a figure is the sum of the The area of a figure is the number of square
lengths of its sides. Opposite sides of a rec- units needed to cover the figure. To find the
tangle are equal. To find the perimeter, add the area of a rectangle, multiply the length (¢) and
2 lengths (£) and the 2 widths (w). the width (w).
P=C+L+wE+worP=2¢4+2w! AT wA
Find the perimeter. « Find the atea] |
E w E 9cm wiem g
C ¢ i 2 ;
14 cm Gim )
TAELXW 3
P=20+2w :6><"§""
= 2(14) + 2(9) =30
=28 + 18 = 46

The area is 30 square meters.

The perimeter is 46 centimeters.

Estimate the area of each figure. Each square represents 1 square inch.
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Find the perimeter and area of each rectangle or square/
sy A K= 122 €BHen) "I s ag @R A+ 1 5D

P= zﬁ.sfz.:sg rszr;:v z}% A=25¥157 7‘6: 55; S, +_szf;1§ in\A= 55 “
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10. What is the area_ of a square with a perimeter of 60 meters?

Pzt =15 A= mls@
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Reteaching 9-4 Areas of Parallelograms and Triangles
Parallelogram Triangle
To find the area of a parallelogram, multiply The area of a triangle is % times the base times
base times height. the height. oW
A=bXh A=lbxn ec A=23
Find the area of the parallelogram.; Find the area of the triangle.
-
! !
| h=6cm h=6cm /
| /
a/_! ] o
b=3cm b=3cm S
A=bxh A=Lxbxn E
B0 =1x3x6 =
=18 2 z
=9
The area is 18 square centimeters. The area is 9 square centimeters.

Find the area of each parallelogram.

1. b=6fth=8ft 2. b=12in,h=9in. 3. b=6yd, hﬁ,)uj\
Gx3 = 8@’(}) \'7."':\7-60%\'{\1') | LX YL TZ.U‘A)
— S—— .
4, b=28in,h=34in. . 5 b=31ydh=19yd U6, b=4.5m,h—4.5
2.9x34 =(‘l.52.in") ' 31x\3=(599 yd* H.€x4.§=m
—— .~
7. b=15cm,h =7 cm 8. b=283fth=117ft

b=144m,h =6,
1531 = (O5end gz 1=@NHD) uyxes =@-§fﬁ5
o —— ——

Find the area of each triangle.
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10. b =8cm,h =14 cm 1. b=7in.,h;18im. 12. b=141‘£n,h§§4‘1..6m
34 _ ur (’ '\) -\3,!.!:._ 4L _ 50.L z)
5= =3 66emt S Sl 3 e T 253 m
13. b=6.4ft,h= b=1(}§fin.,h=55 in, 15. b=5.9cm.ﬁ:,—'8,4-20
lD » o - o~
s, i d\m) LI S fppnt) Sk -Y5 (1237 m?
S—

6. b=17mh=33m 1. b= Sayh =58 8. b=86in.h=08in
g5 C ;j BL08 i s )
11233, s’alm §2°5.8 . 831 BUNR4) === 2 (B i
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Reteaching 9-8 Surface Areas of Prisms

The surface area of a rectangular prism is the sum of the areas 14 cm
of the faces. You can use nets to find surface area.

—|

T
Find the surface area of the prism. P Tm
€=1l4cm ;‘;‘]f; Hront 1::51:
w=6cm | 1
‘ h=4cm l 1
/’J """""""""" T2 6 cm Bottom
4lem Back 4*cm
Find the area of ©F "Fmd the | area of[ é
'the 'front 8 the right side. | €
A=E€Xh A=wXh <
=14 X4 =6x%X4
£ =756 cmZ) = 2"4"6'11'1 “ )
@ Add. |
(847784]+156 56} 1247+ 24 =1328)
The surface area of the prism is 328 square centimeters.
Find the surface area of each prism. =
: 2 = 3. i ®
s | Yry=lb % 2em i = Tr2eY 10 cm %_g_"'% é'cé'u{
T m - 1 Z){G.’-IL o
! Yxx=(g i (-1D= 6D
LI (R Yxy=Ib I 2X6 =IZ aE
e 7 6em | 6 cm O op 10107 1oy
4m e % 10em o 15290
2] ; 8 cm '
|b+|e,+\¢,+u.+u.,+\b= d+y ¢ :zm.—rrzwz 24 +24 + 6D +100+%D
4, 5. = s— ) Bunm E
9.8 om 5.78 in. 6.92 in. :
1655, 3_7_25_: - 23.7in. 8
2 s3em 1.3.1+0.92 = /44 .604 T 3
Joy.084 m 20.2 mm <
53 -13.1=58.93 137578 =134 .986 L 61679 fog
1.1+2.2= 162 12 111 cm 13¢ .98 B *
1.5 01 = Jrolcm 519692 = 81.91917¢ 1'@”
N 1= 33 5 -+ 39 f11‘ b.l-'lol:l‘i.f.l‘{
1152
118761 11.9754 5883 1 (62./2 ¥ 8315 — F 1252

L2].4752in" H1l.LR mm™
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REteaChing 9-9 Volumes of Rectangular Prisms
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Volume is the number of cubic units needed to fill the space inside a three-dimensional figure. It is
measured in cubic units

Find the volume of the rectangular prism.

Volume = Area of base X height i
V=BXh | fice
]

= xwxh JEsmrmes et
=8 X6X4 ,’, 6 cm
=192 3

cm

The volume is 192 cubic centimeters.

Find the volume of each rectangular prism.

All rights reserved.

1. 2 15m 3
6m/|
2m /'

2615 =(30m* 2-6-10 2 m\o@ )
N E
4, T g
: 4.2cle _éég_ééég_]j?ﬂcm I28.93mm 5
! 23m 187 cm ; E
= “07m £ s
31lm ey 63.65 mm E
31.22 mm if
>l 0'7'7"3£@ 4.2:187 '3-7@ 31.12- 6395 2943 =
3 =
Find the volume of each rectangular prism with the given dimensions. CS_’J 15-?'2‘? "‘Q s

7. €=6in,w=9in. A =3in. 8. {=35cmw=15cm.h=7c¢
(,&.3:@ 35157 ——(66,.‘154»«’5
| —— o
9. £=16mm,w = 18 mm._h = 2.5 mm 10, £=5mw=62mh=213
16+13-2.52(120ua?) 5.(2:39=(/120.9 m’l)
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